s\ e — h
LTIme: 3 Hours) ECONOMES r;n: ic term:
- e Glve ec the firm to promote
Q.1 (A) Complete the following sentonces: [05][201 Ql‘li(c'}'hﬂ t ingurr_ed I;'j:id by the taxpayer on ?1‘&&'
() The branch of oconomics that deals ffj The tax W i zrt ®
\:;th the allocation of resource Is known " ncome p'?’; commodity to satisfy p,
A city © an
(a) Micro economics (b) Macro economics (i) Thitg?pa ' ; sets, due t
(c) Econometrics (d) Agricultural Economics i r and tear of cﬂp't?' - ' o th&irua‘
(i} Net addition made to the total rovenue by selling || (V) r:: ?Jrocesﬁ of produclron-b illin
an extra unit of a commodity is - which is backed by willingness tq
(a) total revenue (b) marginal revenue () & ‘iﬁﬁ!ge and ability to Pay:
(c) average revenue (d) marginal cost Py Salling cost (i} Directtax (i '-'Iihry
(iii) Symbolically, the functional relationship (ﬂ; Depreciation (v) Demand

between Demand and Price can be expressed

(1} -(a)Micro economics
(iii) -(a) D, =fP))
(v) -(c)falling

(i) -(b) marginal revenus

(iv) -(b) 1949 (v)

mark for each correct ang

=1 wer.

as
. ing Scheme st
(a) D, =f(P,) (b) D, =f(P,) Marking Total = 5 h,-;ams
By, (d) B, =1T) a1 (D) Complete the correlation: |
(iv) In  India,” National Income Committee | ™ and ink : 3 .
establishment year is . (). Ren ffee : Substitute goog
Tea and cO 8
Ea} 1952 (b) 1949 s Tree
c) 1947 (d) 1950 (i) Micro econo d
i omics : |
(i) Marginal Utility of the commodity becomes Macro economiz= - L—
negative when Total Utility of a commodity (i) L‘_‘_—___:]: Base year prices ::
is P, Current year prices
(a) rising (b) constant i . . +
(c) falling (d) zero | (iv) Demand curve . !::::\Lard

Supply curve : Up
Theoretical difficulty : Transfer payments

. :j : Valuation of inventorie

‘-;“‘
’ Marking Scheme : 1 mark for each correct answer;
Total = 5 Marks

|

(iy Complementary goods (i} Forest
(i} P, (iv) Downward

(v) Practical difficulties/Statistical difficulties

Q.1 (B) Find the odd word out : [05]

(i) Types of Elasticity of Demand:

Marking Scheme : 1 mark for each correct answer;
Total = 5 Marks

Income elasticity, Unitary elasticity: Cross elasticily,
Price elasticity.

Factors of production:

Profit, Labour, Capital, Entrepreneur.

Market structure on the basis of competition:
Perfect competition, Monopoly, Oligopoly,

Very short period market.

Types of Bank Accounts:

Saving account, D-mat account, Recurring account,
Current account.

Classification of Public Expenditure:

Revenue expenditure, Capital expendilure,
Consumption expenditure, Development expenditure,
(i} Profit

(iv) D-mat account

(ir)
(i)

(i)

(iv)

v)
(i)

(i) Unitary elasticity
(i) Very shorl period market
(v) Consumption expenditure

Ans.

(

Marking Scheme: 1 mark for each corract answer;
Total = 5 Marks

) 64) o

Q.2 (A)

Identify and explain the following conce
(Any THREE) : {
Savita collected the information about individ
income in a particular firm.

(A) ldentified Concept: Study of individual
economic unit, Micro economics.
Explanation of Concept: The study
economic behaviour of a particular unil
isolating it from the other forces of economy
known as the study of individual economic U’

{

(B)

India purchased petroleum from Iran.

(A) Identified Concept: Import trade
(International Trade)

(B) Explanation of Concept: Purchasée

goods and services by home country f

another country is called import trade. In !

above case, India our home country Impe

petroleum from Iran, It is an import trade.
S
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a,1 (N Choose the correct Option.

i) Miero Economics is also cajeq o (05)[20]
(a) Income theory (b) Price theors ———"
(c} Growth theory Y

{d) Employmen,
tt
) Money market faces heory

i shortage of funds due to

(a) Inadequate savings
(b) Growing demand for cash
(¢) Uncrganized sector
(d) Financial mismanagement

i) Marginal utility of the com

mod
negative when Total Ity becomes

is
(a) rising (b) constant
(c) falling (d) zero

iw, PUb'iC eXPErldilure of any gOVernment shows

{a) constant trend

t (b) increasing trend
(c) decreasing trend

(d) fluctuating demand

(v) The relationship between income and demand
for inferior goods is
(a) direct
(c) no effect

(i) (b) - Price theory

(iii} {c) - falling

(v) (b) - inverse

(b) inverse
(d) can be direct or inverse

(i) (a)- inadequate savings
(iv} (b) - increasing trend

Marking Scheme: 1 mark for each correct answer; Total = 5 Marks |

Q.1 (B) Find the odd word out : (05)
fi) Revenue concepts: Total Revenue, Average

Revenue, Total Cost, Marginal Revenue.

Quantitative Tools of credit control : Bank rate,

Open market operations, Foreign exchange rate,

Variable reserve ratio.

Scope of Micro Economics: Theory of product

(i)

(iii)

pricing, Theory of factor pricing, Theory of economic 5
growth and development, Theory of economic g

welfare.
Non-tax revenue: Fees, Penalty, Wealth tax,
Special levy.

(v}
(v)

&

Index Number, Price Index Number, Quantity Index
Number, Value Index Number.

(i) Total Cost-

(i) Foreign exchange rate

(iii) Theory of Economic growth and development

(iv) Wealth tax

(v) Laspeyre's Price Index Number
@9 Scheme: 1 mark for each correct answer; Total = § Marks |

——

utility of 3 commodity |

Types of Simple Index Number: Laspeyre’'s Price

—__ ECONowmIcs

i

[Max. Mar

—— —

Q.1 (C) Give economic term: (05)
(i) The value of commodities and services turped_ out

during a given period counted without duplication.

A desire which is backed by willingness to

purchase and ability o pay.

Degree of responsiveness of a change _of quantity

demanded of a good to change in its price.

Very realistic competition in nature.

Swati purchased raincoat for her father in rainy

season.

(ii)
(iii)

(iv)
(v)

(i) National Income

(i) Demand
(iiiy Price Elasticity of Demand
{iv) Mcnopolistic competition
(v} Time utility
| Marking Scheme: 1 mark for each correcl answer, Total=5 Marks_]

Q.1 (D) Assertion and reasoning questions: (QS)
(i} Assertion (A) In perfect competition, price

is determined by the forces of

demand and supply.

The number of buyers and

sellers is so large that one

perscn can not influence prices.

Options: (1) (A) is True, but (R) is False
(2) (A) is False, but (R) is True
(3) Both {A) and (R) are True and (R) is the
correct explanation of (A)
(4) Both (A) and (R) are True and (R) is not
the correct explanation of (A}

Reasoning (R) :

(ii) Assertion (A) A change in quantity demanded
of ocne commodity due to a
change in the price of other
commodity is cross elasticity.
Changes in consumers' income
leads to a change in the quantity
. demanded.
Options: (a) (A) is True, but (R) is False
(b) (A) is False, but (R) is True
(c) Both (A) and (R} are True and (R) is the
correct explfanation of (A)
(d) Both (A) and (R) are True and (R} is not
the correct explanation of (A)

Reasoning (R) :

(i) Assertion (A) Preduction for self- consumption

is not accounted for in the
national income.
Reasoning (R) : The products kept for self

consumption do not enter the
market.




?8 . e ol'tod cﬂtton mrom 'ndia k "
lmP + I
() Engzilnﬂd i gﬂ,.mgnts from it and Solq tm"
il

Options; (1) (A) is True, but (R) is Falso a ymad

(2) (A} is False, but (R) is True Mnmysm'"md concept: Enlrepot tragg :
(3) Both (A} and (R) aro Truo and (R) 18 10 -";"T,‘i (A) Idﬂg;) [Fﬁrh \
correct explanation of (A) [.&"J ira Iathn: Entrepol trade 5 '
(4) Both (A) and (R) aro True and (R} Is 10 (B) xplan rade. Il refers 10 purchagg ra”’ch
_ the correct explanation of (A) fofﬂg:ﬂ furnished products by g COUE», Els,d:‘
(iv) Assertion (A) @ Forolgn exchange managomaont Echlhﬂl' country a_nd then selling t;ﬂf f,.,:.
m contt s ko b/| - Somaror oo kR 311 some
arclal banks. alions. ' Ple g
Reasoning (R) : RBI has to maintain the official r:.:.'}zg;ts raw colton frorn Indig h-ri"ar:
rata of exchanga of rupoe and readymade garments from it and gey, ":“F:-.E__:
&5 ensure its slabilly. pMalaysia. ",
ptions: (1) (A) i - '
(1) { )fs True, but (R) is False « paid the tax on his income angq |
(2) (A) is False, but (R) is True (i) Ashokp ’%nl
(3) Both (A) and (R) are True and (R) is the |
: . t: Direct s b
correct explanation of (A) @ (A) identified Cf:::cep ource of rg,,
}- . By
(4) Both (A) and (R) are True and (R) is rot lo GOvertm et tax refers to |
the correct explanation of (A) (B) Explanation: 7= tax pgq
(v) Asserti P77 e taxpayer on his income and prope, © ¥
Ssertion (A) : Supply is a relative term ne i by th .7
Reasoning (R) :  Suppl ' burden of tax is borne by the person o\
M i ; . . \Fie
inup:g'ytl is alwa?'s ea.cpressed it is levied. The impact and incidence of cir;:
quamﬁl}:on te price, time and tax falls on the same persor:. Taxliiﬂyer CE-'.r:
Options: (1) (A) is Trve, but (R) i transfer to another person. In the aboyy (.
(3) Both (A) ;:jd (;!) K !? iy d (R) is th whighis callad parsons. fax ordiredtay;
are True an is the : : ;
correct explanation of (A) (iv) Raju’s father lnvesttll:ls m_ct!l'l'EY :;"da mafk_ﬁt for
(4) Both (A) and (R) are True and (R) is not long term df""f‘c’.;mth Eg;" yta" ebt raiseq
the correct explanation of (A) » within and outside the county. 0
A_| (i) ~(3)Both (A) and (R) are True and (R) is the l (A) Identified Concept: Investment in ¢,
m correct explanation of (A). market.
(i) -(4)Both (A) and (R) are True and (R) I not the (B) Explanation: Capital market is a marke by
correct explanation of (A). long term funds both equity and debt rag
(i) -(3)Both (A) and (R) are True and (R} is the within and outside the country. It compn'se;;
- -(zjf:rr_eit T'Xplanatlon. of (A), the Gllt-Edged_ or the Qovernment securi
}is false but (R) is True, market, Industrial securities market, etc. Int
L (v) -(3)Bath (A) and {R! are True and (R) is the L abo_ve case Raju's father invest his money
correct explanation of (A). N capital market, i.e. in 3 market for long 1&*
| Marking Scheme: 1 mark for sach correct answer; Jotal = 5 Marks | fund;; both equity and debt raised within 2
Q.2 (A) Identify and explain the following concepts outside the country.
(i) il [06] v) A poor persons wants to buy a car. t
i} Atable seller sold the table for 72,000 ans| (A) Identi ' I
: er piece, || [pn®] (A) Identified Py .
In this way he sold 15 tables and earnegﬂg 000 (B)Expl - Concept: Simple desire.
oul, Xplanation: Desire means wish to he
o - (2) something or the feel; ) )
[p.ﬁf’:] (A) Identified Concept: Total Revenue much. The desj €ling of wanting something |
~ (B) Explanation: Total revenue refers to the total by purcha ey oo o ecomes demand which s ba:?|
amount received by seller or firm by selling to pay. A pi:gg Power, ability to pay and willingne
the commodities at a given Price. Formula to does not h ' Person desires to purchase a carb'{!
calculate Total Revenue (TR) is : ave the adequate i we' '
TR = Price * Quantity sold Will be simple desire and not Dgrchasmg r[?(:;!esi'éfl
In the given example, cannot be demang. a.gemand. A !
TR = 2,000 x 15 Marking Scheme - . = s
and 1 mark for e;gz:k f{? identify the correct concer |
Nation of concept correctly. !
|

Each question ¢ ,

= ¥30,000
Total revenue of table seller is T30,000.

8ITIes 2 marks: Total = 6 marks
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1ime ) HE’L_IT]__ — ECONOMICS [Max. Marks: 3_0_
ot ) Ch:fas:cthhi::o;rem opiion. (o5)120] f| (i) Price and demand for normal-good
(i) The conomics that deals with the . Inverse relationship

allocation of resources:

(a) Micro economics  (b) Macro economics
(c) Econometrics (d) Monetary economics
options:(1) a.b.c (2) a, b

{3) only ‘a’ (4) None of these

(i) classification of markets is done on the basis of
place:

(a) Local market, National market, International |
market

(b) Very short period market, Local market,
National market

(c) Short period market, National market,
International market

(d) Local market, National market, Short period

market
Options (1) a b c (2) b,c,d
(3) only ‘a’ (4) a, d
D) statements that are incorrect in relation to index
numbers:

(a) Index number is a gecgraphical too!.

(b) Index numbers measure changes in the air |

pressure.
(c) Index numbers measure relative changes in an
economic variable.
(d) Index numbers are specialized averages.
Options: (1) ¢, d (2) a, b
(3) b, c (4) a. b, c,.d

{iv) Non-tax sources of revenue:
{a) Direct and indirect taxes
(b} Direct tax and fees
(c) Fees
(d) Special levy
Options:(1) b, ¢
(3)a b, cd

(2) a,c
(4) c, d

(v} Methods of quantitative credit control:

(a) Bank rate (b) Open market operation
(c) Cash reserve ratio (d) Credit rationing

Options:(1)a, b, ¢ (2) b,c. d
, (3)a b d (4) a ¢ d
o

(i) (3)-only'a® (i) (3)-only'a (i) (2)-a. b
(iv) (4)-c.d

(v) {1)-a.b,c

L"_'E_ﬂﬁﬂg Scheme: 1 mark for each correct answer; Total = &5 Marks | I

(03)[20] |

Q2(B) Complete the correlations:

() Micro economics:[ |

-+ Macro economics : Forest

.+ Giffen goods : Y|
(iii) Perfect competition : 1

Monopely : Single seller

iv) Totalrevenue:[ |
(v) To Total Revenue

. revenue : -
1t Average Total Quantity

(v) Output method : e =

.+ lncome method : Factor cost method

(I) Tree (II] Direct rE|aii0nSh]ﬁ'

@;‘1’1'1 (i) Large nurnber of sellers
{(v) Product/ Inventory Method

ach correct answer,; Total =5 MarE
(05)

(iv) Price x Quantity

@rﬁn‘ng Scheme: 1 mark for e
Q.1 (C) Find the odd word out: , N
(i) Types of elasticity of demand - Price elashq@y‘
income elasticity, Less elastic, Cross elasticity.

(i) External debt - Foreign banks, World bank,
International monetary fund, Central bank.

(i) Organised sector - Money lender, Commercial .
bank, Co-operative Bank, Reserve Bank of India.

(iv) Transferincome - Pension, Unemployment
allowance, Wages, Gifts.

(v) Types of foreign trade - Local trade, Import trade,
Export trade, Entrepot trade.

i (i} Central Bank

(i) Less elastic

A

L
&E‘-A (it} Money lender (iv) Wages

{v) Local trade

| [Marking Scheme: 1 mark for each correct answer Total = 5 Marks |

Q.1 (D) Complete the following statements : (05)
(i) Tt?e rglationship between demand for a good and
price is
(a) direct
{b) inverse .
(c) no effect
(d) can be direct and inverse

(i) Demand cure is parallel
of

(a) Perfectly elastic demand
(b) Perfectly inelastic demand
(c) Relatively elastic demand

; (d) Relatively inelastic demand

to ‘X' axis in case




o2 | |

(i} A rightwarg shift in Supply curve shows:
(a) Contraction of supply |

(b) Decrease in supply
(c) Expansion of supply
(d) Increase in supply

(iv) Trade af.gcods and service within the geographical
boundaries of a nation
(a) Internalional trade
(b) Internal trade
(c) Currency trade
(d) Inter-continental trade
(V) ilgck exchange is an important constituent of
(a) Capital market
(b) Money market
(c) Local market
(d) International market

(i} -(b)inverse
ns|
(it} -({a) Perfectly elastic demand
(iit) -(d) Increase in supply

(iv) ~(b) Internal trade

{v) -(a) Capital market

| Marking Scheme: 1 mark for each correct answer; Total = 5 Man‘-tsl g

Identify and explain the following concepts
{Any THREE) : [06]
(i) Salma purchased sweater for her father in winter
season. (2)

—2 (A} Identified Concept: Time utility.

(B) Explanation: Time utility refers to utility
increased in the product by changing the time
of utilization of a product. In the winter season
due to cold atmosphere people need woollen
clothes and sweaters to protect body from

Q.2 (A)

severe cold and so utility of sweater increases.

(ii) Sanket's demand for consumer goods
increased by 20% due to an increase in his
) income by 50 %.

";‘., (A} Identified Concept: Income elasticity.
(B) Explanation: Income elasticity refers to
the degree of responsiveness of quantity
demanded to a change in income only, other
factors including price remain unchanged. In
the above case income elasticity for consumer

goods is 0.40 i.e. income elasticity < 1.

(2)

uTTAM y
monthly P
(i :'om he State Government.

s Xil gconomics Papers S“’Uﬁon
ension of 15 uu..
0,

concept: Transfer income

- The income receiVEd

Ep dual without rendering any o b
service iN return i known as tran Uy,

s _ i

income. Pension 1S the expenditure incy, o
Me,

the gavernment or employer. In the aby,. ;,3

Anita does not work for governmen, h|_,- t,

income in the form of pension. it is 4 I (i
Mz
Rl

jncome.
(iv) John produces 5 units of mobile in hjg fac
when he produced the gth Unii h;‘y

at 750,000.
mobile total cost was 758,000. r
i

3 (A) Identified Concept: Marginal cost,

(B) Explanation: Marginal cost refers t, .
addition made to the total cost by Prﬂdw;:
an extra unit of commodity. In the &t:
case, marginal cost of 6 unit is 28 g |;ﬂ.
ulated by using following formula: ¥

calc
MC, = TC,-TC,_4
MG, = TCq—TCs_,
= TC,-TCs
= 58,000 - 50,000
= 28,000.

(v) Samir paid wages to workers in his factory an
interest on his bank loan. 1
2 (A) Identified Concept: Factor reward or They
of Factor pricing.
Explanation: The factors of production su
as Land, Labour, Capital and Entreprens
are used in the factory to produce good
and services required for consumption @
use. These factors of production get rewar
in the form of rent, wages, interest and '
respectively from the manufacturer for ¥
contribution and efforts. In the above ¥
Samir has paid reward in the form of W&
and interest to the labour (workers) and cap’
{borrowed capital) respectively.
Marking Scheme: 1 mark to identify the correct concef! |

and 1 mark for explanation of concept correctl. |
Each question carries 2 marks; Total = 6 marks_—~

(B)
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| Time : 3 Hours] ECENQ@IE______f————;E;c‘,;‘d;";na__ﬁéwicest from ane %;n;
F— v i [ . hase © country is .
Q1) Tompletathe correlafions. (05)1201 ) ap:[ricselling them 1O anoftrt:;erlmpﬂrt trade

(i) Macro Economics :
-+ Micro Economics : Price theory.

(i} Direct demand : Food and Mobiles
.2 : Land and Labour.

= o3

(iiiy Perfectly elastic demand : Ed
i :Ed=1.

(iv) Output method : Product method
r J: Factor cost method.

{v) Personal income tax:

-+ Goods and service tax (GST) : Indirect Tax.

{i) Income Theory (i) Indirect Demand

@ {iii} Unitary Elastic Demand (iv) Income Method

{v) Direct Tax

[ Marking Scheme: 1 mark for each carrect answer; Totaf = 5 Marks |

Q.1 (B) Give economic terms : {05)
(i) Additional utility derived by a consumer from an

additional unit consumed.

Price being constant, demand falls due

unfavourable change in other factors.

Revenue per unit of cutput sald.

Period in which all factors of production are variable,

The gross market value of all final goods and

services produced within the domestic territory of a

country during a period.

(i) Marginal Utility (i} Decrease in demand

{ii} Average Revenue (iv) Short Period

(v) Gross Domestic Product (G.D.P.)

(i) to
{iii)
(iv)
(v)

=

0| | Marking Scheme: 1 mark for each correct answer; Total = 5 Marks |

Q.1 (C) Complete the following statements : (05)

(i) Whole Economy is studied in
(a) Micro Economics (b) Macro Economics
{c) Econometrics (d) Natural Sciences

(i) When percentage change in quantity demanded is
less than percentage change in price, the demand
curve is .
(a) Flatter
(b) Steeper
(c) Rectangular hyperbola
(d) Horizontal

(i) The cost incurred by the firm to promote sales

(a) Total cost (b} Average cost
(c) Marginal cost {d) Selling cost

(iv) Budget that consists of revenue receipts and
revenue expenditure .
(a) Capital budget
(c) Revenue budget

(b) Government budget
(d) Family budget

(a) Entrepot trade (d) National trade

() Exporttrade __—————————_
‘—"; (o) Macro Economic®

(i)
(i) |-(B) Steepel
(i) { - () selling Cost
-(c) Revenué Bud

et
(iv) I
-(a) Entrepot trade

L Q.1 (D) Assertion

v :
—— Tor each correct answer, Total = 5 Mars

Marking Scheme: 1 mark : !
arking and Reasoning type questions; (g

Marginal utility (MU) goes o,
diminishing.

Total utility (TU) increases ,
diminishing rate.

Options: (a) Assertion (A) is True, but Reasoning (R

is False.
(b) Assertion (A) IS False, but Reascnfng
(R) is True. -
(c) Both statements A and K are True ang
R is the correct explanation of A.
Both statements A and R are True ang
R is not the correct expfanatlion of A
With rising price, supply of
‘commodity falls.
Seller earns more profit at highey
price.

Options: (a) Assertion (A) is True, but Reasoning (R)

is False.

(b) Assertion (A) is False, but Reasoning
(R) is True. .

(c) Both staternents A and R are True and
R is the correct explanation of A.

(d) Both statements A and R are True and
R is not the correct explanation of A.

(i) Assertion (A)

Reasoning (R} :

(d)
(iiy Assertion (A)

Reasoning (R) :

(iii) Assertion (A) Index number considers al
- factors.
Reasoning (R) : Index number is based on
samples.
Options: (a) Assertion (A) is True, but Reasoning (R)
is False.
(b) Assertion (A) is False, but Reasoning
(R) is True.

(¢) Both statements A and R are True and
R is the correct explanation of A.

(d) Both statements A and R are True and
R is not the correct explanation of A

J——



r

%

JM._,'.gr[inﬂ (A)
i

Money Mmark,

et eco i
el nomises use
Rgasonmg (R) : Mloney market does not deal
with financial instruments that
are close Substitutes aof money

op tons: (a) Assertion (A) is True; but

ity Reasoning (R)
(b) Assertion (A) is False b j
) i Tron » but Reasoning

(c) Both statements A and R are True and
R is the correct explanation of A.
(d) Both statements A and R are True and
R is not the correct explanation of A,
International
to division
specifications.

) assertion (A) trade

of labour

and

reasoning (R) : India’s national trade is not

increasing.

options: (a) Assertion (A) is True, but Reasoning (R)
is False,

(b) Assertion (A) is False, but Reasoning
(R} is True.

(c) Both statements A and R are True and
R is the correct explanation of A.

(d) Both statements A and R are True and
R is not the correct explanation of A.

{iy -(d) Both statements A and R are True and R is
not the correct explanation of A.

(i) -(b)Assertion (A} is False, but Reasoning (R) is

True.

{ii} -{b}Assertion (A)is False, but Reasoning (R) is
True.

{iv) -(a) Assertion (A) is True, but Reasoning (R) is
False.

{v) -(a) Assertion (A) is True, but Reasoning (R)is
False.

Marking Scheme: 1 mark for each correct answer, Total = 5 Marks |

leads ﬂ

S5 ]

Identify and explain the following concepts

06
(Any THREE) : : c:ml
{i) Asha collectedthe information aboutthe in

2
of a particular firm. (2)

i ic unit.
Study of individual ECOI"I'Dm-l . .
The study of economic behaviour of a particular unit
(i}

Q.2 (A)

by isolating it from the other forces of economy is
known as the study of individual economic unit.

! nd for salt remained

Ez;zsnhgzgfgzite of a 10 % rise in its price. (2)
Perfectly Inelastic demand.. '
When percentage of change in _quanmy lde_manded
to given change in the price is Zero it is called
perfectly inelastic demand. In the case of ngcessary
gooads like salt, demand is perfectly inelastic.

ffered to sale
Out of 4000 kg of rice the farmer o
1000 kgs of rice in the market at 240 per kg. (2}

Individual supply. ‘ "
Supply refers to actual quantity of a commodity
| supplied by a seller at various alternative prices

during a given period of time.

Shobha collected data regarding the money
value of all final goods and services produced
in the country for financial year 2019-20. (2)
National Income.

National Income is the money value of all ﬁ_nal
goods and services produced in the country during
a year counted without duplication.

(iif)

Lucy deposited a lumpsum amount of
71,00,000/- in the Bank of India for the period of
one year. (2)
Fixed Deposit Account.

Fixed Deposit Account is opened by bank customer
in the bank for fixed period. No withdrawals are
allowed from this account before maturity. Bank
pays higher interest on the deposit in this account.

Marking Scheme: 1 mark to identify the correct concept
and 1 mark for explanation of concept correctly.
Each question carries 2 marks; Total = 6 marks

12(B) Distinguish between (Any THREE) :
{ij Slicing method and lumping method.

[06]
(2)

Slicing Method

T

Lumping Method

#

(1}| Slicing methed is used in Micro Economics. (1) | Lumping method is used in Macro Economics.
(2)| 1t seggregate individual economic unit from the rest of | (2) |t studies all units at a time.

il . the units.
(3)| This method is based on independent study. (3)

It is based on interdependent study.

(4)
Smith, Marshall, Rangner Frisch.
L

lt was prompted by the classical economist like Adam

(4)| It is developed by J.M.Keynes, Malthus Karl Marx, etc.
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Q.1 (A) Choose the correct option from the given
optlons ; (05}

(i) The branch of Economics that deals with the
allocation of resources.

(a) Micro Economics
{c) Econometrics
Options: (1) a, b, ¢ (2) a b
(3} only ‘a’ (4) None of these
(ii) T‘wa or more goods demanded jointly to satisfy a
single want.
(a) Direct Demand
(b) Indirect Demand
(c) Joint / Complementary Demand
(d) Composite Demand
Options: (1) a, d
{3) a, c
(i} Homogeneous product is a feature of this market.
(a) Monopaly
(b) Monopolistic competition
(c) Perfect competition
{d) Cligopoly
Options: (1) only ‘¢’ {(2) a bc
(3)a, b, d (4} c. d
(iv) Economist who is of the view that public finance is

one of those subjects which are on the borderline.
between economics and politics.

(a) Adam Smith {b) Alfred Marshall
(c) Prof. Hugh Dalton (d) Prof. Findlay Shirras

(b) Macro Economics
(d) Monetary Economics

(2) a, b
(4) only ¢’

ECDNOMICS_

'_"'.f,:_m_‘,;nward slopping curve
" 5upp|;' curve : Upward sloping cyp,

Inflation *: [:

al production

_(iii}

iv) Price Index:
) - Agricultur
. Central bank .
T State Bank of India : Commercial Banj,
i} Market De —,
(i) Forest F") R
(iv) Quantity indey numbﬁr |

v)

(iliy Demand Curve

di
(v) Reserve pank of India |

correct answer; Total = ¢ y—
Warking Scheme: 1 mark for 6ach 1= 5 Mgy

Q1(C) Give economic terms for the foiig,

descriptions -

Options: (1) only ‘a’ (2) enly ‘b’
(3} only ‘¢’ (4} only ‘o’
(v) Role of foreign trade. i

(a) To earn foreign exchange
(b) To encourage investment
(c) Leads to division of labour
(d) Brings change in compaosition of exports i
Optiens: (1) a. b, ¢ (2) a b cd
{(3)a b, d {4) None of these

(i) -(3)only ‘a’ (i) ~(4)only‘'c’ (i) -(T)only'c’ ||
(v} -(1)a, b, c

| Marking Scheme: 1 mark for each correct answer, Total = 5 Marks F

Q.1 (B) Complete the following correlations: (05)[20]
(i) Micro Economics : Tree

- Macro Economics : |:

(i) Single consumer: Individual demand
* = Many consumers :

{iv}) -(3)only'c

A

) (118) o

: (05
Utility of a commodity increases with a change )

in |1.5,
time of utilization. ‘ |
The demand for @ commodity which can be put

several uses.

The market where there are a few sellers.
Financial statement showing the expected receig
and proposed expenditure of the government in e
coming financial year.

Deposils withdrawable on demand.

(i)
(ii)
(1ii)
(iv)
(v)

. —

Warking Scheme: 1 mark for each correct answer, Total = 5 Markg

(i) Time utility (i) Composite Demang

{iii) Oligopaly
(v) Demand Deposit

(iv) Government Budget |

Q.1 (D) Complete and rewrite the following statements,
(05)

(i) When Marginal Utility (MU) is negative, Total Utiliy
(TU)is

(a) Rising (b) Not changing
(c) Falling (d) Zero

(i) When less units are demanded at high price i
shows

(a) Increase in demand
(b) Expansion of demand
(c) Decrease in demand
(d) Contraction in demand

(iii)y Revenue per unit of output sold is
(a) Total revenue (b) Marginal revenue
{c) Average revenue (d) Marginal expendilure

(iv) Organised sector of money market in Indd
includes

(a) Indigenous Banks

(b) Money lenders

(c) Commercial Banks

(d) Unregulated non bank financial intermedialés
(v) Purchase of goods and services by one count

_________.

N




#

\

ot

-'ﬂ Y/ (A)

Oclober 2021
from another country is
ort trade -
a) EXP (b) Import trage

{
(©) gntrepot trade (d) Interng) trade

(i -{c) Falling
(i) -{d) Contraction in demang
(iii) -{c) Average Revenue

(iv) -(€) Commercial Banks

(v} -(b) Import trade

ng Scheme:. 1 mark for each correct answer- Total =5 i1 rk__]
identify and explain the fol|o arks
(Any THREE) :

madhav collected informatio
o expenditure of a family. n about mon

wing concepts

[06]

thly

. M (2)

@ concept: Micro Economics/Slicing Method
gxplanation: Micro Economics refers to the

of small unit from the whole economy e study

Madhav has used Slicing Me

; . tho ;
Econorics to collect information abOU?th:fm Micro
expenditure of a particular family. onthly

(i pooja satisfied her need of writin
using pen and notebook, o AN Gesay bzy
. Concept: Utility. )
Explanation : Utility is a want satisfyi
iy isfying power of a
The given example explains that Pooja’s want of

writing an essay is satisfied with the help of pen and
notebook.

(iv)

(v)

5 Concept: Unitary Elastic Deman

gl
@)

Concept: Monopolistic competition.
Explanation: Monopolistic competition r.?ferﬁeig
competition among which a large nur_nb.e;r of se
praducing close but not perfect substitutes.

In the given example many firms are producing soap
which is close substitute but not perfect substitute.

Ramesh prepared share price index number. (2)

urpose Index Number.
Explanation: Special purpose index numbers are

constructed with some specific purpose. In the
above example the aim of Ramesh is to find out

change in share price over a period of time.
Fall In price of sugar by 50 % results in 50 % rise
in demand. (2)

Concept: Special P

d.

When a percentage change in
rtionate change in qguantity
d to be unitary elastic

Explanation:
price leads to a proportio
demanded then it is 53l

demand.

Ed = o% A in Quantity Demanded —
50% _ e, A in Price
50%

Ed = 1

Therefore, the above example is the case of unitary
elastic demand.

Marking Scheme: 1 mark to identify the correct concepl

Each question carries 2 marks; Total = 6 marks

fiy There are many firms producing soaps in India.

and 1 mark for explanation of concept correctly. l

rnal



[Mﬂx. Marks .

|
Q.1 (A) Choose the correct option.
(1) Concepts studied under Macro Economics:
(a) Whole economy
(b) Economic development
{c) Aggregate supply
(d) Product pricing
Options: (i) a, bandc
(i) only d

(05)[20]

(i) b, cand a
(iv) a, b, candd

(2) Individual investors have lost confidence in the |

capital market due to:
(a) lack of financial instruments

(b) high transaction cost
(c) low returns
(d) financial scams

Options: (i) oniy a (ii} only b
(iii) only € (iv) only d
(3) Wrongly matched pair:
{a}|National Income | — (1949

Committee
Financial year |-
Income method | —

1%t April to 31% March
National Income
= Renl, Wages
+ Interest + Profit
+ Mixed Income
+ Net Income
from Abroad

{b)
(c)

(d)|Expenditure — |National Income
method = Rent + Wages
+ Interest + Profit
Options: (i) only a (i) only b
{fii) only ¢ (iv) only d

(4) In Economic sense, market includes following
activities:
(a) The place where goods are sold and purchased
(b) An arrangement through which buyers and
sellers come in contact with each other directly
or indirectly
(c) A shop where goods are sold
{d) All of the above
Options. (i) aandb
(iii} @, band ¢

(5) Optional functions of government:
(a) Protection from external attack
(b) Provision of education and health services
(c) Provision of social security measures
(d) Collection of tax

Options: (i) a, bandc

(i) bandc
(iv) only d

(i) bandc

(i) b, cand d (iv) all of these

M@ @ @ @6 6

a.1(B) Find the O

(1)
(2)
(3)
(4)
(5)

Marking Schem
Q.1(C) Assertion and

(1)

(2)

(3)

s (132) o

dvertisement ht;:uan;nngS

dd word
Free gifts: @
yS, patents.

ntermed
anies.

gelling Cost:
window displa
ancial |

Fin
Unregular 3 loan comp

Nidhi, Chit fun
Non-Tax Revenue: Don
penallies.

Types of Demand:
Composite demand

Features of utility:
concept, Multipurpose €
(2) mutual funds

(4) market demand

Di
Market demand.

oncept, Time utility.

(1) patents
(3) GST

(5) time utility
e 1 mark for each correct an
Reasoning type questions,

ion (A
Assertion { ). than one in case of relatively

inelastic demand.
Change in demand is less than
the change in price.

Options: (1) (A) is True, but (R) is False
(2) (A) is False, but (R) is True

Reasoning (R) :

(3) Both (A} and (R) are True and (R) is the.

correct explanation of (A)

(05)
Degree of price elasticity is less

ediates: Mutual fyng,
ation fees, GST, Fines ang |
rect demand, Indirect demang

gubjective concepl, Relativg

swer, Tolal = 5 Marks|

(4) Both (A) and (R) are True and (R) is not

the correct explanation of (A)

Assertion (A)
witnessed a sharp decline in the
volume of trade.
Investaors  prefer
in securities listed
exchanges like BSE, NSE elc.

Options: (1) (A) is True, but (R) is False
(2) (A) is False, but (R) is True
(3) Both (A) and (R) are True and (R) is thé
correct explanation of (A)

Reasoning (R) : to

Regional stock exchanges have

trade
in stock

(4) Both (A) and (R) are True and (R) is nol.

the correct explanation of (A)

Assertion (A) Marginal utility increases at 3
. diminishing rate.
Reasoning (R) : Then total utility goes OO
diminishing.
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imen PBPEF’ 7

B
l‘ _as: (1) (A)is True, but (R) f supply
ionsS ( ) is False ; b) decrease O
0F""" 12) (A) is False, but (R} is True (a) contraction of SUPF;IY B (d)
th (A (c) expansion of sUpplY
{3) BU r ) and (Rj are Trua and fR) . increase of supply .
correct explanation of (A) othe (4y P |asticity of demand in 2 linear demand curve
rice elasticity 0 ‘
(4) Both (A) and (R) are True ang (R) is not at the Y -axis is equalto ___— (b)
the correct explanation of (A) (a) zero
ﬁsseﬂion (A) : Simple index number are one (d)
) assumed as base years (c) infinity
i : Everyco itV is aive greater than one :
gsoning (R) © | mmodity is given ; d quantity
Re importance. ® oqal (5) The relationship between Price ane 8
) : , s
options- (1) (A)is True, but (R) is False g;";;ﬁd 'S (b) Indirect (c)
, i ion
(2) (A) is False, but (R) is True Contraction (d) Expansio e
. 1
) fgigﬁz;gﬂ?)rﬂre 7;”“-‘ and (R) is the (1)| (c) mobilise the 5aw??hse aezc;ﬂi“g;a 9
nation of (A) various sectors 0
il | | d
(4) Both {A) and () are True and (R) s not 2| (d) Combination of Qutput and Income metho
the correct explanation of {A) ( Iy
. ion of supp
) assertion (A) Perfect competition prevails (3)| (2) contraction &
wfhen the demand for output (4) | (a) zero
of ea ; :
elasﬁcch producer is perfectly (S}l{b] indirect

' wer; Total = 5 Marks
Reasoning (R) : A single uniform price prevails [Marking Scheme: 1 mark for each correct 8ns i
under perfect competition which || Q.2 (A) Identify and explain the concepis {70

. . 06
is determined by the interaction THREE). i [ t]
of demand and supply. (1) Rohan uses interdependence and advemslngtz‘:‘;
Options: (1) (A) is True, but (R) is False grow his business.
" (2) (A) is False, but (R) is True @ (&) Identified concept: Oligopoly.

(3) Both (A) and (R} are True and (R) is the (B) Explanation: Oligopoly is a market where
correct explanation of (A) | there are a few sellers (firms) in the market
(4) Both (A) and (R) are True and (R) is not | producing either a homogeneous product or
the correct explanation of (A) a differentiated product. Interdependence and

' advertising are the main features of oligopoly.
a(ﬂ ) @) @) (3) 1) @ G &) (3 | (2) 60% fall in price of a commodity leads to 60%
= ' rise in quantity demanded. (2)
aking Scheme: 1 mark for each correct answer; Total = 5 Marks | @ (A} Identified concept: Unitary elastic demand.
1) Complete the following statsmeris. (05} (B) Explanation: Unitary elastic demand refers
() Commercial banks act as intermediates in the 5 nadentage-bf chinge in:bride; lads to'a
ﬁnancisl SYSt?m b ' proportionate change in quantity demanded.
Eab; ?jceeier:;c:;tfhe country’s economic growth | (3) Neha taught her grandmother some computer
(c) mobilise the savings and allocating them to tasks. )
various sectors of the economy (A) ldentified concept: Knowledge utility.
(d) control the credit

! — (B) Explanation: When a consumer acquires
knowledge about a particular product, it is
called knowledge utility.

(4) Keshav sent2,00,000 to his uncle from Mumbai
with the help of a bank. (2)

(A) ldentified concept: NEFT (National Electronic
Fund Transfer)

(B) Explanation: It is an electronic transfer
process, through which money can be sent

@) Inindia, National Income is estimated using
{a) Output method

() Income method
(c) Expenditure method -
(d) Combination of QOutput and Income method ﬁ%

" Other factors remaining constant, when less
Quantity is supplied only due to fall in price, it shows

; £
\ Ty -
A &) ..ym
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ECONOmIcs | [Max. Marks: 130

Ments,

{M rcial banks act ; {ﬁ;r,i[:?a_' T : — —
mme S as : ] ’j'
) fi nancial system to 'Nermediate in the [_:‘H___arqug Scheme: 1 mark for each correct answer; Total = § Marks
i —_— .
make profits Q.1 (C) Choose the correct option. _ (05)
accelerate the country's - , (1) Concepts studied under micro-economics.
bilize the savings conomic growth {a) National Income
{Gj |1‘!0_ gs and EI"OCEIHI’]Q them (h} e | Pri L [
yarious sectors of the economy to eneral Price Leve
contro! the credit ' (c) Factor Pricing
d) ) . {d) Praduct pricing
| The relationship between demang 1o, a good Options: (i) b andc (i) b, candd
! orice of |tls substitute is B e and (i} &, b and ¢ iv) candd
(a) direc (2) Arightward shift in supply curve shows:
p) inverse (a) contraction of supply
no effect | (b) decrease in supply
() : .
(d) can be direct and inverse ' (c) expansion of supply
. i ' |
. n supply curve is y : : (d) increase in supply )
) :,:he P _ 'Pward sloping, it slope Options. (i) only a (f:;‘i gﬁg g
Y iif) only d f
(@) posm\:'e (3) Under pE\!'(fE)CI Coympgtitfon, sellers are:
(b) negall‘-’ﬁ‘: (a) Price makers
(c) first positive then negative (b) Price takers
(d) zero (¢) Price discriminators
. timating national j . , (d) None of these
| When 53 9 al income, we include | ; ; i) only b
ly value of final goods - . Options: (i) only a (if) only
:3';3' . 9 and services in order (iif) only d (iv) only ¢

(4) Demand curve is parallel to Y-axis, in case of:
(a) perfectly elastic demand
(b) perfectly inelastic demand

(a) make computing easy
(b) avoid double counting

(c) maximize national welfare of the people ' (c) relatively elastic demand
(d) vall_.rate the total economic performance of a (d) relatively inelastic demand
nation Options: (i) a (i) b
4 Money market faces shortage of f (¥ © (g
} to . g URds: ndlise (5) Statements that highlight the significance of index
ad t : number: )
(a) inadequate savings {(a) Index numbers are useful for making future
{b) growing demand for cash predictions.
(c) presence of unrecognized sector (b) Index numbers help in the measurement of
{d) financial management inflation.
2 (c) Index number helps to frame suitable policies.
N (o o 3 (a 4 (b 5y (a {d)} Index number can be misused.
| M @ @ @ @ @6 6@ Options: (i) b, candd (i) a ¢ and

_ | (i)a.bandd (i) a, bandc
rking Scheme : 1 mark for each correct answer; Tolal = 5 Marks |

() (v)  (2) (v} B) () (4 () (5) (iv)

(B) Give economic terms. (05)
I} Graphical representation of demand schedule.
) Cost incurred per unit of output.

|_Marking Scheme: 1 mark for each comrect answer; Total = 5 Marks |

3 Charging different prices to different consumers for || @.1 (D) Complete the correlation. (05)
the same product or services. | (1) Microeconomics: Tree :: Macro economics :

Y} Ramesh has registered all his import and export (2) : Central Bank :: SBI : Commercial Bank.
transactions. (3) Output method :

! Elasticity resulting from infinite change in quantity | :> Income method : Factor cost.
demanded. (4) Single price : Perfect competition

:: Discriminated price :

(1) Demand curve (2) Average cos! _
(5) Totalcost: TFC + TVC :: Average cost ;

(3) Price discrimination (4) Foreign trade
(S} Perfect elasticity

ol = (145) 4
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(1) For -
e est (2) -RE'-I (3) Product method
(4) Monopoly (5} TC
| TQ

@rking Scheme: 1 mark for each cormect answer; Total = 5 Marks |

Q.2 (A)

Identify and explain the concepts

(Any THREE). [06]

(1) Ramesh decided to take all decisions related to

production such as what and how to produce. (2}

(A) Concept: Free market economy.

(B) Explanation: A free market economy is that
economy where the economic decisions regarding |

production of goods, as ‘What to produce? How
much to produce ? How to produce ? etc.’ are taken
at individual levels.

(2)

(2) Nilesh purchased ornaments for his sister.

™

(A) Concept: Possession utility.

(B) Explanation: Possession ulility refers to the
ownership of goods is transferred from one person
to other.

UTTAM's

(3) 70% fall in
rise in quantity

(A) Concept: Relat

on: When a percqntage change in i
less than proportionate change D
ded it is called relalively i”Elasliz=

xn Economics Papers Solution I.
price of a commodity leads tq oy

and.
dem @

|

jvely inelastic demand,

(B) Explanati
leads 10
quantity deman
demand.

(4) Devraj and

F his own product.

ﬁﬁ (A) Concept: Monopoly-

n: Monopoly is a market in which therg.
aller who controls the entire Marke;
duct which has no close substitg

ularly invests his money i‘n

(2

his group companies fix the pricg .

(2)

(B} Explanatio
is only single §
supply for a pro

| (5) Raghu’s father reg

stock and bonds.
Investment in stock market.
It is the demand by the consumers:

d services that satisfies their want

|
1

(A} Concept:
3} Explanation:
for goods an
indirectly.
Marking Sche

and 1 mark .
Each question cames

me: 1 mark [0 identify the correct concept
for expfanaf:‘on of concepl correctly.
2 marks; Total = 6 marks

[06]



on:
(1) The concept not sludled under Micro Economics.
(a) National Income (b) General Price Level
(c) Factors Pricing (d) Product Pricing
Options: (i) a ang b (i) band c
(fii) a, b and ¢ (iv) only ¢
(2) Price elasticity of demand on a linear demand curve
oen the X-axis is
(a) zero
(€) infinity
Options:

Q1(A) Choose the correct optl

(b) one
(d) less than one
(i) a (i) aandb
(i) a, b and ¢ (iv) only ¢
(3) In Economic sense, market includes the following
activities ;
(a) The place where goods are bought and sold
(b) An arrangement through which buyers and
sellers come in close contact with each other
either directly or indirectly.
(c) A shop where goods are bought and sold.
(d) All the above. '
Options: (i) aand b (ii) bandc
(i) a, b and ¢ (iv) only d
(4) Statement related to limitation of index numbers:
(a) Index numbers are not completely reliable.
(b) There may be bias in data collected.
(c) Every formula has some kind of defect.

(d) Index numbers ignore changes in the qualities of
product
Options: (i) aandc
(i) b, cand d
(5) Obligatory functions of Government:
(a) Provision of employment.
(b} Maintaining internal law and order.
(c) Welfare measures.

(d) Exporting goods and services.

(i} a, b, cand d

Options: (i) cand d (i) aand b
(iii} only b (ivl a, candd
A | (1) (haandb (2} (i) a
(3) (v)onlyd (4) (iiya, b, c, d
(5) (ii)onlyb
| Marking Scheme: 1 mark for each correct answer; Total = 5 Marks |

Q.1 (B) Complete the correlation:
(1) Micro Economics : Slicing Method
:: Macro Economics ;
(2) Pen andInk: .
:: Tea and Coffee : Substitutes.

(05)

ECONOMICS
(05)[20].

N _(_3')_ _'Fc;téTﬁErvenue :
.- Marginal Revenue :

ATR
ATQ

(4) Price Taker : .
.+ Price Maker :

(5) Theorelical difficulties :

s
|
t answ “:“\\
Marking Scheme: 1 mark for each correc er%

i d:
1(C) Find the odd wor . | i
0(11]( r::.'!arket Structure on the basis of competition - )

Monopoly, Oligopoly. Very short period Mmarket
Perfect competition.

Monopoly
Transfer of payment
: Valuation of in""emﬂries

(1] Lump|ng Melhod (2} Commemeﬂlary

(3] Price * QUB“"IY sold (4) Perfect Cﬁmpelmon |

(5) Practical Difficulty |

(2) Financial Aasets‘: Bonds, Land, GOVanmem
securities, Derivatives.

(3) International Trade: Import trade, Expor rade
Entrepot trade, Internal trade. .

{4) Non Tax Revenue: Fees, Fines and Penaltieg

Special levies, Income tax. .
Concept of cost: Fixed cost, Variable cast, Ty,
cost, Average Revenue.
(1) Very short period market
{3) Internal Trade
{5) Average Revenue

(2) Land
(4) Income tax

| Marking Scheme: 1 mark for each correct answer; Total = § Marks.

Q.1 (D) Complete the following statements: (05)
(1) The relationship between income and demand is

(a) direct (D) inverse
(c) no effect (d) can be direct or inverse

(2) An upward movement along the same supply curve
shows

(a) contraction in supply
(b) decrease in supply
(c) expansion in supply
(d) increase in supply
(3) NDP is obtained by
(a) deducting depreciation from GNP
(b) deducting depreciation from GDP
(c) including depreciation in GDP
(d) including depreciation in GNP
(4) Development financial institutions were established
(o} z
(a) provide short term funds

(b) develop industry, agriculture and other key
sectars

(c) regulate the capital market




l Specien Peper. 3
&) _-,'-.'hen manginal util
[3) Iefo
(c) negative

ft)l’ iS Zero t s
. total utility is
(b) highest .
(d) positive

| (gl
| @ M@ @ (@
3
| = @ @ G e

. ﬁsm 1
1 mark
‘&EI;) = for each comect answer: Total = 5 Marks |
s fy and explain the concept

] Sh{ Yy THREE): - [06]

(1 abana paid wa
! ges to facto
factory and interest on bank ‘;:n\-mrkers & tihz':

(A) ldentified i
of factor pﬁc;:gc:ept_ FaconmewaRIoeRITnY
Fa’:sa‘z:;’"“: “'fe factor of production such as
- th‘e fa;f. capital and entrepreneur are used
required f‘;&’ to produce goods and services
et of cor_isumpﬁon and use. These
L t production get their reward in the form
fro , wages, interest and profit respectively
m manufacturer for their contribubion and
efforts.

Lalita satisfied her want of writing an essay by
using pen and note-book. (2)

(8)

ey

J (A) ldentified concept: Utility.
(B) Explanation: Utility is a wanit satisfying power
of a commodity.

explains that Lalita's want of

The given example
tisfied with the help of pen and

writfing an essay is sa

R

=i

(3) Vidya collected data regarding money value of
all final goods and services produced in the
country for 2021-22. (@)

(A) Identified concept: Nationa! Income.

_:“..
@ (B) Explanation: National income is the money
value of all final goods and senvices procduced

in a country during 2 year counted witoL
duplication.

(4) Sara Ali makes a monthly contribution to 2 fund
jointly created by her friends. The collected fund
is then given to chosen members through lucky

draw. (2)
(A) Identified co
(B) Explanation:

ncept: Chit Funds.

Under chit funds, members
make regular contribution to the fund.
Draws are made on the basis of crilena
mutually agreed upon by the members.
cotton from India, made
and sold them to

(2)

=

imported

(5) England
de garments from it

readyma
Malaysia.
Ans. (A) Identified co

(B) Explanation:
of goods and
then selling them to ano
processing operations.

Marking Scheme- Each sub-question carries 2 Marks; r
concept and 1 mark for i

{ mark for idenifyingd the
explangtion of concept comactly.; Total = 6 marks

ncept: Entrepot Trade.

Entrepottrade refers to purchase
services from one country and
ther country after some

[0€]




SPECIMEN PAPER -

4 (With Solution)

[Max. Marks: BE

fime__—— o
* ) Choose thg correct cption_. B D
9‘. : conCePls studied under micrg €conomics =
{ () National i‘nf:ome (b) Genera) price Iéval
() Factor prmmg (d) Product Pricing
Options: (! bandc (i) b, cand a {¥ii)

g bandd(iv)b, cand d

f under perfect competition, sellers are:
(a) Price maker (b) Price taker
(c) Price discnminators (d) None of these
options: (i) a, bandc (i) onty b

(i) only ¢ (iv) aandc

4) Statements that are incorrect in rejati i

Q) i ation to index
(a) Index number is a geographical tool.

(b) Index numbers measure changes | i
n
pressure. 9 the air

(c) Index numbers measure relative
economic variable.
(d) Index numbers are specialized averages.
Options: (i) candd (i) a and b
(i) band ¢ {iv) aandd

(4) Trends shown by Public expenditure of any
Government shows following trend.
(a) Constant (b) Increasing

changes in an

(c)

Decreasing {d) Fluctuating
Options: (i) only a {if) only b
(ifi} only ¢

(iv) only d
(5) Role of foreign trade is .
(a) To earn fareign exchange
{b) To encourage investment
(c) Lead to division of labour
(d) Bring change in composition of exports
Options: (ilaandb (i} a, bandc

{ii) band d {iv) None of these
lé‘ (1) (iv)candd (2) (i) only b
. (3) (iYaand b {4) (iv)onlyd
' (3) (ila,bandc

Eﬂu‘ng Scheme: 1 mark for each correct answer, Total = 5 Marks ]

Q1(B) Complete the correlation. (05)
(1) Money market : Short term funds
4 : Long term funds
(2) Straight line demand curve : Linear demand curve
e : Non linear demand

curve.

(3) Demand curve :
:: Supply curve :Upward.

{4) Laaspeyre's index : -
- Paasche's index: Current year quantities.

ECONOMICS

~ C+I+G+(X=M)

5
) ::GNP:C+1+G+(X—M}+(R-‘F’J~

{1) Capital Markel (2) Convexto origin

(4) Base year quantities

(3) Downward

(5) GDP

[Marking Scheme: 1 mark for each correct answer. Total = 5 Marks

5
Q.1{C} Find the odd word. E:f}
(1) Types of Bank Accounts: Saving A/c, Demat A/C,
Recurring A/c, Current Alc o
i f competition:

Market structure on the basis of C
Monopoly, Ofligopoly. Very Short Period market,
Perfect competition.

Financlal Assets : Bonds, Land, Govt. Securities,

(2)

(3}

Derivatives. ot
(4) Single seller,price maker . no close substitute,
advertising.
(5) GST, Fees, Fine, Gifts.
A (1) Demat Alc (2) Very short period market
(3) Land {4) Advertising
(5) GST
[ Marking Scheme : 1 mark for each correct answer, Total = 5 Mark_s|

Q.1 (D) Complete the following statements. (05)
(1) Development financial institutions were established
to .
{a) provide short term funds.
{b) develop industry, agriculture and other key
sectors.
{c) regulate the moneay market.
{d) regulate the capital market.

{2) While estimating national income, we include
only value of final goods and services in order to
avoid
(a) make computation easier
(b) avoid double counting
(c) maximize national welfare of the people
(d) evaluate the total economic performance

(3) Net addition made to the total revenue by selling an
extra unit of a commodity is .
(a) Total Revenue {b) Marginal Revenue

{c) Average Revenue (d) Marginal Cost.

(4) PointofSatietymeans
(a) TU is rising and MU is falling
(b) TU is falling and MU is negative
{c) TU is maximum and MU is zero
{d) MU is falling and TU is rising.

p (171)
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(5) Commercial banks act as intermediaries in the ||

financial system to
(a) make profits
(b) accelerate the country’s economic growth.
(c) mobilize the savings and allocating them to
various sectors of the economy.
(d) control the credit.

(1) -(b)develop industry, agriculture and other key
sectors.

(2) -{b)avoid double counting

(3) -(b)Marginal Revenue

(4) -(c) TU is maximum and MU is zero

(5) -{c) mobilize the savings and allocating them to

various sectors of the econamy,

lﬁarkfng Scheme: 1 mark for each correct answer, Total = 5 Marks |
Q.2 (A)

Identify and explain the concepts

(Any THREE). [06]

(1) Vrinda receives monthly pension of %5,000/-
from the State Government. (2)

Ans. (A) Identified concept: Transfer income.

(B) Explanation: The income received by an
individual without rendering any productive
service in return is called transfer income.
Pension received by Vrinda is a part of
individual income and on the other hand it is
part of Government expenditure.

{(2) Shabana studied the salaries of the employees

in her company. (2)

Ans. (A) Identified concept: Micro economics.
(B) Explanation: Micro economics deals with a

TTAM’s X1l Economics Papers Solution l
U of small part of the .nationai econg
stud}iro ces are the part of industry or fagy, "
?rq;pst{:dies of salaries of er.r::zIOyEES are
subject part of micro e:conc;lerat; .
(3) Kavita consumed five units o ges one ap,

the other. ) o
: oncept: Total Utility.

A) Identified € g

pod | i utility refers to

=2 lanation: Total L |
(B) Eggregate of utility denveg by the consyp,

from all units of a commodity consumed.

i -mat facility, safe depgg;
ABC bank provides d-mat facili ] s
. lockers, internet panking facilities to its

customers.
—3 (A) |dentified concept: Commercial Bank.

= (B) Explanation: According to Prof. Cairncrog
«A bank is a financial intermediary, a dealer

loans and debts”. Commercial banks proy

a range of ancillary services such as trangf

of funds, safe deposit lockers, Demat fagij

internet banking, mobile banking etc to th

customers.
(5) Maharashtra purchased wheat from Punjab.

(A) Identified concept: Internal Trade.

(B) Explanation: Buying and selling of goc

"~ and services within the boundaries of a nat

are referred to as ‘Internal Trade’ or ‘Domet
Trade’ or ‘Home Trade’.

Marking Scheme: 1 mark to identify the correct concept
and 1 mark for explanation of concept correctly.
Each question carries 2 marks; Total = 6 marks

1.2 {RY DNictinfanieh hohwaon {Anu THREEY



e SPECIMEN PAPER - 5 (With Solution)
I ﬁme: g_ours

e ECONOMICS
a1 (A)_Choose the correct op '

[Max. Marks: 80

tion. (05)[20] || (5) Wrongly matched pair:

(1) - = Group B Group A - Group B
2 :r;n:eu::lf-r (a)] Transport “(1)[Supply of (a)| Exception to the law
[3) Servi ”t.y. (b) | Blood bank labour of supply _
5 i {c)|Mobile phone (2)|Expansion of | (b)|Rise in the price - rise
(4) KnﬂW‘etﬂge Utlhty {d} Doctor SUPDL}' in the quantlty
Op!'i'on,s N (aJ T‘d. 2'b, 3‘6, 4'C (3} AVErage cost {:C) Total cost + total
(b) 1-b, 2-a, 3-d 4-¢ quantity
{c) 1-a, 2-b, 3-¢c, 4-¢ {4)| Supply rise (d) | Less price
(d) 1-b, 2-¢, 3-d, 4.5 ' Options: (a) 1-a (b) 2-b
(c)3-¢c (d) 4-d
2) Group A Group B
] -_________———___._
(1)| Price Index (a)|Zp,q +Ip.q. x 100 () (b) (2 (b) (3 () @) ()
1 194 : i
2)| Value Inde .
(@ . X (0)| 2q, + Zg, x 100 [ Marking Scheme: 1 mark for each corrsct answer; Total = 5 Marks |
(3)] Quantity Index | (c) £piq; + £pyq, x 100 |l Q.1 (B) Give economic terms. (03)
(4)| Paasche’s Index | (d) Zp, + Ip, x 100 (1) A situation where more quantity is demanded at
Options: (a) 1-d, 2-¢, 3-a. 4.5 ~— — — —— | lower price. . _
(b) 1-d, 2-a, 3-b, 4-¢ (2) Degree of responsiveness of a change in quantity

demanded of one commadity due to change in the
price of another commaodity.
(3) Costincurred per unil of output.

(c) 1-b, 2-c, 3-d, 4-a
(d) 1-c, 2-d, 3-a, 4-b

(3) Wrongly matched pair: (4) Number of firms producing identical product.
GroupA = | GroupB (5) Rohan has registered all its Import — Export
(1)|National Income| (a)|1949 transactions.
Committee | {1} Expansion of demand
{2)| Financial year (b)| 15! April to 315 March {2) Gross elasticity of demand  (3) Average Cost
{3)|Income method {(c)| National Income {4} Industry {5) Foreign trade
' = Rent + Wages | | Marking Scheme: 1 mark for each correct answer: Total = 5 Marks |
+ Interest + Profit
- + Mixed Income Q.1 (C) Assertion and Reasoning type questions. (05)
(4) | Expenditure (d) | National Income (1) Assertion{A) : Degree of price elasticity is less
method = Rent + Wages than one in case of relatively
+ Interest + Profit inelastic demand.
Options: (a) 1-a (b) 2-b ! Reasoning (R) :  Change in demand is less then
(c)3-c (d) 4-d the change in price.
(4) Identify the right group of pairs from the given Options: (a) (A} is True, but (R) is False
options. (b) (A) is False, but (R) is True
Group A cof - GroupB . (¢} Both (A) and (R) are True and (R) is the
(1)| Direct tax (a) | Non-tax revenue correct explanation of (A)
(2} | Indirect tax (b) | Infiation (d) 5}0”7 (A) and (R) are True and (R) is not
. & correct explanation of (A)
(3)| Fees and Fines (c)|GST (2) Assertion (A) : Regional stock
| (4)|Surplus budget | (d)|Personal income tax . G e SR

witnessed a sharp decline in the

Options: (a) 1-d, 2-c, 3-b, 4-a volume of trade.
(b) 1-c, 2-d, 3-a, 4-b Reasoning (R) : Investors prefer to trade in
(c} 1-d, 2-c, 3-a, 4-b securities listed in premier stock
(d) 1-a, 2-b, 3-c, 4-d exchanges like BSE, NSE elc.

Options: (a) (A) is True, but {R)is False




(b) (A) is False, but (R)is True

(c) Both (A) and (R) are True and (R) is the
correct explanation of (A)

(d) Both (A) and (R) are True and (R) is not
the correct explanation of (A)

(3) Assertion (A) The marginal utility is zero.
Reasoning (R) : Then total utility is highest.
Options: (a) (A) is True, but (R) is False

(b) (A) is False, but {R) is True
(c) Both (A) ang (R) are True and

(R) is the L
correct explanation of (A)

(d) Both (A) and (R) are True and (R) is not |

the correct explanation of (A)
(4) Assertion (A)
commodity s
importance.
Simple index number include
price index, Quantity index.

Options: (a) (A)is True, but (R} is False
(b) {A) is False, but (R) is True

(c) Both (A) and (R) are True and (R) is the
correct explanation of (A)

given equal

Reasoning (R) :

(d) Both (A) and (R) are True and (R) is not |

the correct explanation of (A)
Public Revenue includes Tax,
Non —Tax income.
Reasoning (R) : GST Also include
Options: (a) (A) is True, but (R) is False
(b) (A} is False, but (R) is True
{c) Both (A) and (R) are True and (R) is the
correct explanation of (A)
(d) Both (A) and (R) are True and (R) is not
the correct explanation of (A)
(1) -(c) Both (A) and (R) are True and (R} is the
correct explanation of (A).
(2) -(c)Both (A)and (R) are True and (R) is the
correct explanation of {A).
(3) -(c) Both (A) and (R) are True and {R) is the
correct explanation of (A).
(4) -(c) Both (A) and (R) are True and (R) is the
correct explanation of (A).
(5) -(c) Both (A) and (R) are True and (R) is the
l correct explanation of (A).

(5) Assertion (A)

&
[

Marking Scheme: 1 mark for each comrect answer; Total = 5 Marks | | , .
' J s : Ef_\jg (A) Identified Concept: Monopolistic competition.

Q.7 (D) Complete the following statements. (05) |

(1) Development financial institutions were established
to ;

(a) provide short term funds.

(b) develop industry, agriculture and other key
sectors.

(c) regulate the money market.

(d) regulate the capital market

Simple Index Number | every |

UTTAM's X!l Economics Papers Solution I .

ed by .
(a) deducting depreqatllcm from ggE =
(b) deducting depret_:la_lloq frgrgp
(c) including deprec!atfon in e
(d) including depreciation In i i |

(3) Net addition made to the total revenue by selling
extra unit of a commodity 1S N
(a) total Revenue
(b) marginal Cost Revenue
(c) average Revenue
(d) marginal Revenue . |

(4) Symbolically, the functional relationship betweey,
Demand and Price can be explzassed as
(a) Dx = f{Px) (b) Dx=1(Pz)

(2) NDP is obtain

(c) Dx =1f(y) (d) Dx ={(T)
=0i se of
o (E?quulrri]eza (b) normal goods

(c) necessities (d) comforts

(1) -(b)develop industry, agriculture and other key
seclors. .

(2) -(b) deducting depreciation from GDP.

(3) -{d) marginal Revenue.

(4) -(a)Dx = f(Px)

(5) -{c) necessities

J Marking Scheme: 1 mark for each correct answer, Tolal = 5 Marks

N\ﬁ

Q.2 (A) Identify and explain the concepts
{Any THREE). [06]
(1) Viru kept aside 100 kgs. out of 500 kgs. Of
wheat produced in his farm for his family. (2

@- =y (A) Identified Concept: Self-consumption.

— (B) Explanation: Producers themselves consume
the entire or a part of the output they produce
is called self-consumption.

(2) Gauri collected the information about the

income of a particular firm. (2)
@ {A) Identified Concept: individual
economic unit,

Explanation: The study of economic behavior

of a particular unit by isolating it from the other

forces of economy is known as the study of

individual economic unit.

(3) Charging different prices to different
consumers for the same product or services.(2)

Study of

(B)

(B) Explanation: “Monopolistic competition refers
to competition among a large number of sellers
producing close but not perfect substitutes”.

(4) ABC bank provides demat facility, safe deposit
lockers, internet banking facilities to its
customers.

(2)
g) (&) Identified Concept: Commercial Banks.
(B) Explanation: According to Prof. Cairncross:




